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Subject : English Full Marks : 25

1. Read the following passage carefully and answer the questions :
The Taj Mahal is a beautiful tomb. It stands on the bank of the river, Jamuna. It is in Agra. It

was built in the 17" century. Emperor Shah Jahan built it in memory of his dear wife Mumtaz.
Ustad Isha was the main architect. About twenty thousand people worked for twenty-two years to
build it. The Taj Mahal is one of the Seven Wonders of the World. It is known as a dream in
marble. People from all over the world come to see the Taj Mahal.

A) Answer the questions.

1) Where is the Taj Mahal located ? (2)
i) Why do people from all over the world come to see the Taj Mahal ? (2)
1) Who was the main architect ? Q)

B) Fill in the blanks with appropriate words taken from the passage : 1x2=2
1) Saikat first in the class. ii) Four men robbed the yesterday.

2. Write the Bengali meaning. 1x2=2
1) Farmer : i) Pride :

3. Give the opposite words of the underlined words. 1x2=2
He works slowly but carefully.

4. Find out preposition : 1x2=2
a) He comes from Calcutta b) The water of the Pal Lake is very clear.

5. Fill in the gaps with the proper words from the brackets : 1x2=2
a) He does not tea (take/takes).
b) Kamal solved the sum ? (Have/Has)

6. Fill in the blanks : 1x2=2

a) Today is Friday. Tomorrow will be
b) Today is Thursday. Yesterday was




7. Re-arrange the letters to make meaningful words : 1x3=3
a) TWARE : b) LLIINNEETTG : ¢) GTSNOR :

8. Write five sentences in English on : "My mother" (5)
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